
Quiz #6     Math 290    Name: 
      5/13/21 
Show all your work clearly.  No Work, No Credit. 
 

1. Using power series 
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2. Determine the Laplace transform of the following functions:   (10 pts) 
 a) ( ) ( ) ( )3 2cos 3 5 3tf t e t t t= + − +  
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3. Determine the inverse Laplace transform of the following:   (10 pts) 
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4. Express ( ) ( )( )1L F s G s− in terms of a convolution integral (Do not solve the integrals)   (5 pts) 
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5. Using Laplace transform to solve the following:   (20 pts) 
 a) ( ) ( )'' 8sin 6cos ; 0 2; ' 0 1y y t t y y− = − = = −  
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



b) ( ) ( )'' 4 2 ; 0 0; ' 0 0ty y te y y− = = =  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



c) ( ) ( ) ( )' 2 sin 2 ; 0 3y y u t t yπ+ = =  


